Geometry 






Name:______________________________
Right Triangle Trig Test Review
Calculator Problems Part 1  (Write each ratio using 4 decimal places)

1.  sin 89°


2.  cos 13°


3.  tan 52°


1)________________













2)________________

4.  tan 67°


5.  sin 11°


6.  cos 87°












3)________________













4)________________

7.  sin 8°


8.  tan 66°


9.  cos 9°













5)________________

10.  sin 45°










6)________________













7)________________













8)________________













9)________________













10)_______________
Calculator Problems Part 2  (Round to the nearest degree)
11.  tan A = .4663

12.  cos A = .2588

13.  sin A = .4067

11)_______________












12)_______________
14.  cos A = .1045

15.  tan A = 1.3764

16.  sin A = .6561














13)_______________
17.  cos A = .1908

18.  sin A = .9272

19. sin A = .1736

14)_______________












15)_______________
20.  tan A = .4452














16)_______________













17)_______________













18)_______________













19)_______________













20)_______________

21.  






22.   










a)  Sine of B:






a)  Cosine of C:




b)  Cosine of A:





b)  Tangent of D:
c)  Missing Angle
B=




c)  Missing Angle
C=






A=







D=

23.






24.  









a)  Cosine of G:






a)  Sine of  H


b)  Tangent of E:






b)  Tangent of J:
c)  Missing Angle
G=





c)  Missing Angle
H=






E=








J=

Find the missing side.
25.  





26.





25)_______________

 











26)_______________








27.





28.





27)_______________

 











28)_______________
 






29.  





30.





29)_______________

 











30)_______________



Solve the following word problems using trig 







(DRAW A TRIANGLE TO REPRESENT TO SITUATION)
31. A person is standing 100 feet from the base of a tower.  The angle of elevation to the top of the tower is 33°.  How tall is the tower?










32. A ladder 15 feet tall leans against the side of a building so that its bottom is 8 feet from the house.  What angle does the ladder make with the ground?







33.   A triangular sail is 92 feet high.  Its width is 26 feet.  What is the length of the sail’s hypotenuse?  (hint:  use Pythagorean theorem)








34. A kite is flying at an angle of elevation of 34°.  All 220 feet of the string has been let out.  Ignoring sag, find the height of the kite to the nearest foot.








35. The angle of elevation from a ship to the top of a 45 ft. lighthouse on the coast is 26°.  How far from the coast is the ship?

Bonus Questions:

Write an original and creative “real life” word problem involving right triangle trig and SOLVE it!!

Be sure to use a diagram.

